SH2FERME MRS (BBEHEE)

F8R FEDETAHUIRD AIEEICEOEHFEY, THFAERTIEFLLVAE —BT-F%
ITEEH
HEES
. B EEOREH
RF-BrH pH | —FR | RER | L
e 1+ 2B5%E | 3~5PE%E | 6~10REEE BIE
=Bt 155,069 81,706 3,753 67,125 14,435 33,221 17,836 1,633 106
SH1 B2 KHT 34 26 - 8 8 - - - -
0 _EHT 50 31 1 18 18 - - - -
¥ HERAT 29 15 - 14 14 - - - -
dt ¥ A ERHET 15 14 - - - - - - -
JIARET 78 24 16 38 2 36 - - -
5 INERET 110 38 1 71 4 67 - - -
ch {EIFEET 45 21 10 14 - 14 - - -
TSR HT 118 57 2 58 37 21 - - 1
REKET 114 67 2 44 22 22 - - -
34 TIET 180 150 3 21 18 3 - - -
FHET 68 46 - 20 13 7 - - -
JI LHT 549 347 12 178 22 156 - - 1
B2 B ET 105 93 - 5 5 - - - -
b 5 30 24 6 - - - - - -
STERET 43 34 - 7 5 2 - - -
& B EHET 32 29 - - - - - - 3
7K FE BT 51 47 - 4 4 - - - -
Bl =R ET 10 9 - - - - - - -
A% T 403 173 13 206 26 180 - - -
Z= R RHET 232 216 5 10 7 3 - - -
HW—TH 266 121 - 139 - 139 - - -
HFW=-TH 149 148 - - - - - - -
HFW=TH 226 - 1 222 - 222 - - -
HFWMETH 129 128 - - - - - - -
HFWAHTH 131 130 - - - - - - 1
FWATH 188 112 76 - - - - - -
HFWETH 266 264 - - - - - - -
HW/N\TH 278 274 - - - - - - -
HWATH - - - - - - - - -
k®BkE—TH 129 128 - - - - - - -
EREZTH 439 407 12 10 10 - - - -
HRE=TH 284 283 - - - - - - -
kR & AT 494 61 - 429 64 128 163 74 -
FE1EHEET 30 17 - 13 4 9 - - -
BT For 18 8 1 9 9 - - - -
oh e BT 18 18 - - - - - - -
BRHET 70 38 - 32 - 32 - - -
NEREET 16 13 - 2 - 2 - - -
1285 T 38 35 - 2 2 - - - -
+ i 52 A ET 13 13 - - - - - - -
+ R ET 23 14 4 4 4 - - - -
NIz LZEiRET 38 33 - - - - - - -
NIz EBT 27 11 - 16 6 10 - - -
it 2 NET 61 25 6 28 10 18 - - -
HhEET 20 12 2 6 6 - - - -
ZEAHE BT 44 26 9 9 - 9 - - -
B> FAET 11 8 3 - - - - - -
2R iRET 23 22 - - - - - - -
fo AT 926 527 36 345 116 229 - - -
Fafe3FET 132 47 1 82 65 17 - - -
= {RET 1,351 882 66 368 264 61 43 - 4
BEFHE 565 382 8 144 38 40 66 - -
HiLFE—TH 359 72 - 251 - 251 - - -
HiLFBTZTH 177 94 - 78 - 78 - - -
HiLFBET=TH 336 55 6 273 20 253 - - -
ERFE—TH 168 78 17 73 71 2 - - -
MiFE=TH 442 225 43 172 64 108 - - -
MiFE=TH 469 230 7 231 112 119 - - -
ERFEETE 261 178 2 78 21 57 - - -
ERFHETH 384 199 11 166 69 97 - - -
R EET 30 20 - 8 8 - - - -
BT 13 13 - - - - - - -
X1 JTEFHE 42 39 3 - - - - - -
3 EHT 22 18 - 2 2 - - - -
chit AT 245 107 3 131 - 10 121 - 1
IR AT 505 309 21 148 33 27 88 - -




SH2FERME MRS (BBEHEE)

F8R FEDETAHUIRD AIEEICEOEHFEY, THFAERTIEFLLVAE —BT-F%
ITEEH
HEES
ENEEDER
RF-BI wH | —FR | RBR | | TOM
e 1+ 2B5%E | 3~5PE%E | 6~10REEE BIE
[FAal] 23 23 - - - - - -
= {E P ET 26 25 - - - - - -
(=351 18 9 4 4 4 - - -
FaETEAT 36 25 - 11 11 - - -
= FRAT X X X X X X X X
Sl 77 57 1 17 - - 17 -
ng)I| @ 25 24 - - - - - -
TEEIET 32 17 - 15 15 - - -
R8T 178 20 16 139 14 79 46 -
bR AR ET 147 77 - 70 9 45 16 -
TR Hh 75 SR B ET 96 18 1 75 - - 75 1
TR it 7 75 (B BT 13 13 - - - - - -
AV F BT 85 49 1 32 22 10 - -
T R ET 7 7 - - - - - -
FELRHET 58 26 13 15 - 5 10 -
T R & BT 35 14 - 21 - 21 - -
INA ERHET 18 18 - - - - - -
FEFTET 114 24 1 89 12 12 65 -
HNET 100 11 - 89 1 44 44 -
KFRET 974 181 11 766 73 623 70 -
KFRTEHET 339 171 19 145 51 56 38 1
FaART AT 1,253 393 20 791 72 285 434 2
AR 143 54 2 83 12 71 - -
A2 BT 721 109 7 593 32 160 401 1
IR ET 239 147 5 82 39 43 - 1
FEARHET 540 - - 533 - 533 - -
AR AR BT 559 409 17 121 56 65 - 1
ERET—TH 616 295 21 293 48 9 236 -
MEREE=TH 212 30 7 167 - 73 94 -
HEEREE=TH 265 205 16 42 24 18 - -
HEREERTmTE 474 193 55 223 82 26 115 1
HEERERATHE 193 123 6 61 3 - 58 -
MREEIARTHE 54 48 - - - - - -
HEREtTH 376 121 28 225 40 139 46 -
B3R FRET 44 17 - 27 9 18 - -
78 3F FRET 45 23 - 22 - 22 - -
ek sl 44 27 - 17 - - 17 -
2 BT 5 5 - - - - - -
ETET 21 16 1 4 - 4 - -
JTHARREET 14 11 - 3 - 3 - -
FEAHET 29 6 - 20 1 19 - 2
18 HET 5 1 - 3 2 1 - -
S R B ET 84 24 - 59 - 21 38 1
3t BAREET 12 12 - - - - - -
TP ET 31 24 - 6 2 4 - 1
[ ma e BT 42 17 17 8 8 - - -
L =HT 51 7 - 44 4 40 - -
FAI=F 75 P HT 6 4 - 2 2 - - -
B FET 215 29 - 180 - 90 920 -
WEHHET 35 28 3 2 - 2 - 2
ARET 73 8 - 65 - 64 1 -
AR EET 83 3 - 79 1 7 71 -
L =& 14 14 - - - - - -
B p<pHET 59 18 5 36 12 24 - -
FHET 65 30 - 33 17 16 - -
At = ET 20 19 1 - - - - -
AFSTHET 10 6 - 4 - 4 - -
IN)IET 25 6 - 19 - 19 - -
Cicko A=l 24 21 1 2 - 2 - -
%2 JtE B ET 22 11 - 11 - 11 - -
BT X X X X X X X X
EC) 39 7 - 32 - 32 - -
%3 Fm A HET 7 7 - - - - - -
ickrillisl:ig X X X X X X X X X
INTRET 190 17 - 169 1 - 168 1
RN ERET 72 10 - 58 - 20 38 -
= RHET 30 7 1 21 - - 21 1
EEET 35 8 5 22 - - 22 -




SH2FERME MRS (BBEHEE)

F8R FEDETAHUIRD AIEEICEOEHFEY, THFAERTIEFLLVAE —BT-F%
ITEEH
HEES
ENEEDER
RF-BrH pH | —FR | RER | L
e 1+ 2B5%E | 3~5PE%E | 6~10REEE BIE
ERIRHET 74 19 - 54 - 54 - = 1
oh f BT 47 15 - 32 - 32 - - -
EEEd:) 64 19 - 45 - 26 19 - -
K= ILET 42 12 - 28 - 28 - - -
REILZEIRET 64 9 - 55 25 - 30 - -
15 R EhET 34 17 8 9 5 4 - - -
TEZHT 32 16 - 13 - 13 - - 2
Bz ET 4 4 - - - - - - -
thEET 93 17 - 73 3 70 - - -
¥ HZE IR ET 10 10 - - - - - - -
dc/NERET 10 9 - - - - - - -
M4 H TR 90 14 - 76 32 44 - - -
¥ E AT 41 16 - 24 18 6 - - -
dt ¥ AT HET 64 19 - 45 45 - - - -
dt 3 A T 23 18 2 3 - 3 - - -
3 HiEET 268 4 - 263 4 259 - - -
/)N R ET 16 6 7 3 3 - - - -
% BRET 30 17 1 12 12 - - - -
it R R ET 7 7 - - - - - - -
LB E Tl - - - - - - - - -
= R TiET 105 42 3 60 30 30 - - -
iR 3i 248 47 3 196 23 173 - - -
1)1 3HET 59 1 - 57 - 57 - - -
Je SeHT 181 33 12 134 4 130 - - -
e K ET 91 40 1 48 4 44 - - -
% PAHET 50 40 3 7 7 - - - -
B =T 50 27 3 19 9 10 - - -
BZET 25 11 5 9 9 - - - -
TR SATHET 22 9 - 13 9 4 - - -
T RET 74 17 - 57 7 50 - - -
=% pili 24 10 - 14 5 9 - - -
R RET 166 38 - 125 19 87 19 - -
poesliy 31 1 - 30 - 30 - - -
ARtEET 36 23 2 11 4 7 - - -
Je T Er 308 122 6 176 83 69 24 - -
SREEFET 1,815 972 52 768 349 304 115 - 1
iRSEET 3,835 2,068 111 1,580 632 893 55 - 2
BEEFRL—TE 90 87 1 2 2 - - - -
EEERILZTH - - - - - - - - -
X4 EEERLUL=THE 11 9 - - - - - - 1
BEEFRLRTE X X X X X X X
Z{RET 154 153 - - - - - - -
3 M EAET 29 26 - 3 3 - - - -
=F-3 ) 623 282 58 276 60 216 - - -
=33 570 95 23 447 18 328 101 - -
=4I| FaHT 145 8 - 133 - 133 - - -
=F-3:1) 667 121 3 530 29 140 58 303 1
T = 4HT 97 27 - 69 - 17 52 - -
St FHET 53 31 - 21 21 - - - -
78 .2 PR ET 63 5 - 58 - 20 38 - -
SHI B Hh 5 T 73 3 - 69 - - 69 - -
SHIBRET 181 34 9 135 - - 135 - 1
=EARET 984 12 - 962 - 66 517 379 1
=& EHIET 324 53 14 247 5 108 134 - -
=&RIINET 424 135 4 280 36 112 132 - -
=EKEH 477 94 8 364 5 - 359 - -
AXEE—TH 644 69 22 543 24 121 398 - -
AXEBRI=TH 1,167 52 1 1,082 - 42 452 588 1
AXERI=TH 1,068 36 - 1,019 33 120 866 - 1
AEETETH 1,200 44 1 1,134 26 180 928 - -
KERTATH 52 24 3 25 - 25 - - -
AEEATH 300 5 - 292 - 73 219 - 3
AEEHETH 161 13 - 146 - 33 113 - -
i) 310 142 7 154 27 93 34 - 1
EXE—TH 221 121 13 84 43 41 - - -
ZRI=TH 498 168 12 312 138 147 27 - 1
ZHRI=ZTH 694 184 4 502 95 252 155 - -
EXETETH 697 23 - 662 50 210 402 - -



SH2FERME MRS (BBEHEE)

F8R FEDETAHUIRD AIEEICEOEHFEY, THFAERTIEFLLVAE —BT-F%
ITEEH
HEES
ENEEDER
RF-BI wH | —FR | RBR | | TOM
e 1+ 2B5%E | 3~5PE%E | 6~10REEE BIE
K& FHT 122 78 - 43 34 9 = - =
XRF—-TH 239 87 30 116 18 39 59 - 2
K&EEZTH 263 102 18 139 110 29 - - -
ARF=TH 359 89 16 242 114 128 - - 3
RKEZFMETH 230 167 17 43 23 20 - - -
ARFRETH 325 124 47 129 48 81 - - -
RKRFATH 382 79 41 257 104 153 - - 1
XK&ZFETH 284 138 37 104 44 60 - - -
ZNE—TH 358 155 1 197 47 150 - - -
TODE_TH 290 277 - 7 7 - - - 1
ENE=ZTH 377 21 23 328 20 308 - - -
ROERHE 60 34 1 25 23 2 - - -
PO 55 K BR E BT 308 272 2 31 31 - - - -
HAARET 369 312 2 49 49 - - - -
IN&—TEH 126 116 7 - - - - - -
INEZTE X X X X X X X X X
%5 \E=TH 16 16 - - - - - - -
N&EETH X X X X X X X X X
INERETH 140 71 - 63 62 1 - - 1
J\SEHT 54 33 - 19 19 - - - -
ARRFE—TH 116 91 - 25 25 - - - -
AKEFB_-TH - - - - - - - - -
RKEZEFH=TH 113 110 2 - - - - - -
HE—TH 141 135 5 - - - - - -
REZTE 242 200 7 35 35 - - - -
AE=TH 295 200 2 67 67 - - - -
=R uld:i1) 228 69 8 149 63 56 30 - -
fEst R ET 205 113 - 84 80 4 - - 2
fEstFaET 124 59 9 54 27 27 - - -
=l 59 58 - - - - - - -
JEsTFaAT 87 60 3 22 17 5 - - -
e FrHET 11 10 1 - - - - - -
FEFTET 50 37 - 12 12 - - - -
{foEr 827 637 96 77 44 33 - - 3
REBE—TH 369 265 - 99 99 - - - -
AEB-TH 170 129 34 5 - 5 - - -
T 166 158 4 - - - - - -
IRISHET 118 72 - 45 11 34 - - -
AEMWE—TH 433 369 8 48 39 9 - - -
AEWM=TH 151 130 - 21 21 - - - -
R&—TH 654 462 29 158 158 - - - -
NEZTH 396 253 3 138 138 - - - -
RE=TH 257 154 2 98 49 49 - - -
NERET—TH 101 90 - 10 10 - - - -
NERATZTH 169 164 - - - - - - -
NEXET=TH 122 112 1 9 6 3 - - -
JNEEHT 222 207 1 10 10 - - - -
H&HT 90 8 - 79 - 79 - - -
TS RHET 123 52 1 67 8 59 - - -
£ &FEET 644 631 2 4 4 - - - -
t&EET—TH 636 623 2 4 4 - - - -
t&BET—TH 8 8 - - - - - - -
X6 t5 649 447 34 157 141 16 - - -
t&—TH X X X X X X X X X
t%=TH X X X X X X X X X
75/ R HT 272 226 31 10 10 - - - -
Z&HE—TH 107 61 4 40 19 21 - - -
ZEBIZTH 219 67 7 143 20 123 - - -
Z&HET=TH 83 71 - 11 11 - - - -
NERB—TH 340 189 5 145 17 128 - - -
REBZTH 160 159 - - - - - - -
REB=TH 625 438 4 176 22 154 - - 1
NRERBETH 296 80 1 203 - 203 - - -
NREBATH 321 301 5 5 5 - - - -
NERBATH 206 202 2 - - - - - -
ZEARBE—TH 53 10 - 41 - - 41 - 1
ZEARBE-TH 47 32 6 7 7 - - - 1
ZEARBE=TH 41 10 5 25 7 18 - - -



SH2FERME MRS (BBEHEE)

F8R FEDETAHUIRD AIEEICEOEHFEY, THFAERTIEFLLVAE —BT-F%
ITEEH
HEES
_ ENEEDER
AT A wH | —FR | RBR | | TOM
e 1+ 2B5%E | 3~5PE%E | 6~10REEE BIE
“EXEmMT B 59 52 2 - - - - —
ZEKBREETH 116 51 8 57 17 40 - -
=X KXK®R—TH 417 103 10 297 - 228 69 -
=&KBZTH 84 29 - 53 11 9 33 -
=XKBR=TH 129 74 12 39 6 33 - -
=EKXKBRMUTH 113 52 10 47 47 - - -
=&KBETH 116 58 12 46 28 18 - -
mERE—TH 962 476 12 455 131 80 244 -
MEXRBE_TH 353 214 4 133 84 49 - -
MERB=TH 443 188 22 228 174 54 - -
PEEREMETH 235 134 5 94 72 22 - -
MEXBATH 196 156 4 36 21 15 - -
HRE 1,789 1,289 25 459 367 92 - 1
o LI BT 1,792 1,299 38 438 429 9 - -
LI & BT 1,312 731 26 533 167 267 99 -
FAEET 1,424 907 25 468 115 353 - -
ER AET 396 115 2 271 48 142 81 -
ME=FET—TH 221 161 4 55 35 20 - -
ME=MET=TH 157 153 2 - - - - -
FATEHTET 181 62 7 110 37 73 - -
BEeRT—TH 527 459 9 53 53 - - -
HER=TH 343 296 5 35 35 - - -
R AT 123 112 3 4 4 - - -
FARIF/INHET 272 75 - 194 43 117 34 -
FERFHHEET 285 139 5 140 84 56 - -
FARFHMET 232 180 8 38 38 - - -
FARFSIHRET 123 85 19 16 16 - - -
BRFETE 214 86 1 125 28 79 18 1
TR IFET 44 10 2 28 28 - - 1
EIRET 752 525 20 202 184 18 - -
HEFET 32 32 - - - - - -
FHET—TH 339 91 7 236 118 118 - -
EHETZTH 135 62 - 72 72 - - -
HFEB—TH 136 130 2 2 2 - - -
EFEHR-TH 149 147 - - - - - -
EFEB=TH 229 148 9 69 69 - - -
HFESMTH 106 102 2 - - - - -
£ 3 168 108 - 57 57 - - -
& EHHET 212 188 - 22 - 22 - -
EHE—TH 90 75 5 6 6 - - -
EHEEI=TH 219 144 1 73 72 1 - -
EHET=TH 210 180 - 30 30 - - -
EHETMTH 56 50 6 - - - - -
EHETATH 244 206 1 37 37 - - -
AAFRA—TH 386 53 - 327 51 9 267 -
BARFREIZTH 14 12 - 2 - 2 - -
ARFHE—THE 502 100 4 389 34 116 239 -
BRFHEI_TH 182 99 3 79 46 33 - -
TR FAHE 527 57 1 461 9 111 341 1
TR FFET 45 - - 43 - - 43 -
FARFFHET 476 13 - 455 4 63 388 1
ARFERET—TH 1,080 12 22 1,038 - 385 653 -
AAFERN-TH 348 201 2 144 57 87 - -
BAAXFERE=TH 198 86 7 97 63 34 - -
AARFIE—TH 327 51 7 267 37 128 102 1
AARFIE=ZTH 116 42 - 73 - 73 - -
AARFIE=TH 188 22 6 159 61 98 - -
AARFIERTH 182 82 7 90 78 12 - -
BRFCE—TH 350 118 13 213 145 68 - -
BARFZEHZTH 204 112 9 167 124 43 - -
AREFHHET—TH 213 99 18 93 67 26 - -
FAARFEHHET—TH 162 81 - 80 80 - - -
mAFEEIE—TH 164 108 2 51 26 25 - -
BREFEIE-TH 22 4 - 18 - 18 - -
BARFEREE—TH 276 92 - 181 20 161 - -
AAFFEETZ=TH 210 131 - 76 31 45 - -
EXk—TH 294 43 1 245 17 228 - 1
FX_-TH 293 181 13 94 72 22 - -




SH2FERME MRS (BBEHEE)

F8R FEDETAHUIRD AIEEICEOEHFEY, THFAERTIEFLLVAE —BT-F%
ITEEH
HEES
ENEEDER
2k wH | —FR | RBR | | TOM
e 1+ 2B5%E | 3~5PE%E | 6~10REEE BIE

ETE=TH 234 124 - 107 84 23 - - -
EFXEMETH 231 142 4 77 65 12 - - 2
EXAETH 34 16 1 17 3 14 - - -
EW—TH 462 250 34 170 170 - - - -
EWM-TH 299 241 - 54 54 - - - -
EWETH 268 224 2 40 40 - - - -
EHRMTH 244 226 1 11 11 - - - -
EWRATH 320 284 1 30 30 - - - -
HPHME—TH 459 165 1 286 29 193 64 - -
HPHHEZTH 391 69 3 314 4 218 92 - -
HPHME=TH 403 93 - 307 6 301 - - -
HPHMmEETHE 237 192 - 43 12 31 - - -
HPHMEAETHE 289 225 6 54 31 23 - - -
HOOMENRTHE 612 116 13 461 25 365 71 - 1
HPHtmEEtTH 352 301 - 49 12 37 - - -

X7 HOOHitE/NTE 194 151 5 34 6 13 15 - -
HHMEATE X X X X X X X X X
Hooitlt—TH 473 267 1 203 21 182 - - -
Hooitlt=TH 322 122 1 193 - 175 18 - 1
HooHitt=TH 574 349 - 218 9 186 23 - -
ZERm—TH 292 165 1 122 5 7 110 - 1
PEE=-TH 374 338 8 27 27 - - - -
2EFE=TH 316 222 7 81 32 49 - - -
FERAFE—TE 354 287 5 56 21 35 - - -
FERAFE=TH 454 100 3 345 - 142 203 - -
FERAFE=TH 329 317 - 6 6 - - - 1
FEXETET B 304 295 - 6 2 4 - - _
FERAFEATE 422 352 - 69 - 69 - - -
FERAFEIATE 1,086 120 7 946 6 150 790 - -
e AT 509 31 - 478 1 42 435 - -
e PRET 1,360 29 3 1,322 40 745 537 - -
ZEIL—TH 332 82 1 244 1 181 62 - 1
2EIL=-TH 271 127 4 137 2 43 92 - -
ZEEA B ET 938 333 15 583 70 358 155 - -
ZEHEATEH—TH 409 291 2 110 55 55 - - -
FEEHETEAI=TH 461 269 3 186 47 139 - - -
BEE—-TH 537 149 5 367 187 180 - - 1
BEE=-TH 139 137 - - - - - - -
BEE=TH 140 130 - 8 8 - - - 1
BEEMTHE 193 156 - 34 25 9 - - -
BXERTH 372 143 1 223 63 58 102 - -
FILETFE—THE 128 106 - 21 19 2 - - -
FILETE=TH 319 231 2 83 8 75 - - -
FILUETFE=TH 443 354 13 69 69 - - - -
FILETFEMET B 327 307 - 16 - 16 - - -
BRET—TH 270 253 1 11 11 - - - -
EIABT=TH 335 325 - - - - - - 1
&ErE—TH 57 55 - - - - - - -
ZEsEZTH 92 84 - 6 - 6 - - -
BELE=TH 158 146 - 8 1 7 - - 1
ZELEMTH 157 134 - 21 8 13 - - -
BELERETH 273 267 - - - - - - -
BEErEARTH 188 183 1 - - - - - -
mEESR 456 163 12 276 197 79 - - -
h&EEsE—TH 1,717 3 71 1,634 - 1,634 - - -
h&EELEZTH 191 187 - - - - - - -
h&EELE=TH 127 - - 125 - - 125 - -
h&EELEMTH 745 18 - 720 - 9 711 - -
h&EELERATH 135 135 - - - - - -
h&EELERTH 964 197 - 761 - - 761 - -
m&ELE—TH 364 357 - 1 - 1 - - 1
m&EELEZTH 612 160 5 443 - 443 - - -
m&EESLE=TH 224 222 - - - - - - -
m&EE-EMTH 325 320 1 - - - - - -
m&EESERTH 262 260 - - - - - - -
m&EESLENRTH 463 391 1 66 66 - - - -
m&ESELTH 193 191 - - - - - - -
mEEyE/NTH 421 416 - - - - - - -



SH2FERME MRS (BBEHEE)
FeR FENETHORMMEEITELIHFY, TEHFAERVIEFLULYAE —BTT -FF

ITEEH
HEES
N ENEEDER
AT A wH | —FR | RBR | | TOM
1. omeae | 3~5Rsee |o~tomsze| 'IPRE
Lk
REEsE—TH 157 155 - - - - - -
REX,AE-TH 240 236 - - - - - -
REXyE=TH 26 25 - - - - - -
REX,yEETH 153 150 - - - - - -
REXsERTHE 183 182 - - - - - -
REXFEATE 212 208 - - - - - -
tExsE—TE 105 105 - - - - - -
t&XrEZTH 126 124 - - - - - -
tEXsE=THE 190 187 - - - - - -
dtExsEMTE 141 140 - - - - - -
tExsERTE 150 148 - - - - - -
tBEE,EARTE 199 197 - - - - - -
—%—T8H 29 29 - - - - - -
Z#&ZTH 373 144 - 228 - 92 - 136
—&=TH 312 241 1 67 46 21 - -
ZZ&mMTH 163 159 3 - - - - -
—&ATH 30 30 - - - - - -
Z&KRTH 5 5 - - - - - -
—ZtTH - - - - - - - -
—&F%H—TH 36 32 - - - - - -
—&FEH-TH 47 45 1 - - - - -
Z A TRET 70 11 - 59 - 59 - -
KFIET 92 38 - 52 5 - 47 -
= E 37 B ET 319 123 13 180 32 118 30 -
FEFRHAET 150 34 7 109 48 36 25 -
=#®—TH 435 189 25 218 38 180 - -
=EWZTE 382 113 5 259 1 203 55 -
ZHW=TH 161 107 - 53 - 8 45 -
ZHmETH 121 109 - 10 10 - - -
EifNAw —TH 432 326 - 98 68 30 - -
E#NABZTH 275 272 1 - - - - -
=HEET 311 186 2 121 34 - 87 -
EMxTET—TH 1,056 207 5 831 97 385 349 -
EHTEI=TH 342 9 1 328 - 56 272 -
EHTEI=TAH 136 33 - 100 29 30 41 -
EifThATET B 304 206 7 90 58 32 - -
ZHET - - - - - - - -
=X /g 248 246 1 - - - - -
chET 931 825 7 92 58 34 - -
FRL—TH 527 409 23 87 - 87 - -
FFRLU=TH 368 205 11 142 - 142 - -
FHRIL=TH 237 234 - 1 1 - - -
FHRLUmETH 152 147 - 5 - 5 - -
FHRWLATH 119 100 - 19 - 19 - -
FRIWATHE 410 15 134 254 - 254 - -
FEUETH - - - - - - - -
AW—TH 217 212 - - - - - -
AIL=TH 249 246 - - - - - -
BifRsE 259 255 - - - - - -
A ARHET 25 19 - 3 3 - - -
EHE 336 323 - 7 7 - - -
B/ AKE—TH 551 149 3 396 - 225 171 -
B/ AEZTH 314 230 41 38 10 28 - -
B/KE=TH 348 324 3 15 - 15 - -
B/ AKEMTH 102 66 3 29 7 22 - -
B ARHET 157 119 - 34 34 - - -
KA EET 105 98 7 - - - - -
FRYE—TH 320 316 2 - - - - -
FRYEZTH 273 268 - - - - - -
FRYE=TH 266 248 3 12 12 - - -
HFEE—TH 72 72 - - - - - -
HESZTH 67 66 - - - - - -
HEB=TH 85 83 - - - - - -
ERE—TH 272 196 - 62 11 46 -
ERET=TH 300 284 4 8 8 - - -
ERET=TH 559 396 - 161 8 70 83 -
ERETMTH 989 7 - 982 - 982 - -
BFRTE—TH 218 215 - - - - - -




SH2FERME MRS (BBEHEE)

F8R FEDETAHUIRD AIEEICEOEHFEY, THFAERTIEFLLVAE —BT-F%
ITEEH
HEES
ENEEDER
RF-BrH pH | —FR | RER | L
e 1+ 2B5%E | 3~5PE%E | 6~10REEE BIE
BTRXTE=TH 238 235 - - - - - - -
BFRTE=TH 219 215 - - - - - - -
PR&-E—TH 148 140 6 - - - - - -
FEHyrEZTH 169 124 - 43 17 26 - - -
PR -E=TH 146 144 1 - - - - - -
ZEH—TH 55 19 7 29 7 22 - - -
FEHP=TH 54 16 9 29 23 6 - - -
FEH=TH 250 204 - 45 45 - - - -
PEGFMTHE 227 - - 223 - 223 - - -
FEGAETH 430 106 - 321 14 23 284 - -
HFRILUE—TH 180 179 - - - - - - -
FRWUAE_-TH 4 4 - - - - - - -
wFRILUE—TH 126 121 - - - - - - -
FEFRLUE=TH 206 206 - - - - - - -
FRLUE=TH 172 169 1 - - - - - -
FRLUEMETHE 177 129 15 30 30 - - - 1
FRLUEATH 161 161 - - - - - - -
Eifd—TH 887 236 6 635 33 417 185 - 1
Eifd=TH 460 228 17 213 44 169 - - -
EHIL=TH 965 361 1 593 27 153 260 153 1
WEE—TH 146 - - 145 - 145 - - -
WBE=TH 238 236 - - - - - - -
WEBEE=TH 173 17 - - - - - - -
WEBEETE 202 81 - 120 18 102 - - -
=HE—TH 254 124 4 125 10 85 30 - -
=HZTE 119 60 - 57 1 56 - - -
ZHE=TH 315 140 2 170 15 105 50 - -
ZHEMTHE 47 18 - 29 - 29 - - -
ZHEETHE 327 208 - 119 2 42 75 - -
ZHEARTHE 177 100 5 71 55 16 - - 1
ZMtTH 9 9 - - - - - - -
IR LU S BT 165 143 - 19 19 - - - -
#MIh—TH 627 178 - 443 - 443 - - -
#WMI_—TH 185 161 15 - - - - - -
#WMIN=TH 351 205 51 86 86 - - - 2
#MHmTH 347 256 14 75 17 58 - - -
#WMIMATH 309 209 48 49 46 3 - - -
#MINATH 420 - - 416 - 174 242 - -
HAR—TH 7 - - 7 7 - - - -
AR_TH 1,289 - - 1,289 - 1,289 - - -
AR=TH 342 312 7 13 13 - - - -
ARETH 223 211 1 7 - 7 - - -
ARATH 490 57 1 430 - 331 99 - -
K¥E—TH 367 293 45 25 25 - - - -
KEZTH 192 157 12 23 1 22 - - -
X¥E4=TH 421 81 3 337 20 317 - - -
KREWMTH 350 238 12 97 54 43 - - -
XERTH 933 261 79 586 64 522 - - 2
KENRTH 301 198 77 19 19 - - - 2
ER—TH 373 292 8 66 66 - - - 1
ER=-TH 806 194 - 608 - 608 - - -
ER=TH 682 343 14 318 130 188 - - 1
ERETH 242 163 - 77 77 - - - -
ERAETH 169 166 - - - - - - -
ERATH 5 5 - - - - - - -
BAEHET 3,463 1,601 58 1,772 415 1,278 79 - 3
&HT 606 240 56 279 225 54 - - -
FaLEEHET 117 99 - 16 16 - - - -
BAEE—TH 163 33 - 116 86 30 - - -
BAEEIZTH 249 69 1 168 96 72 - - -
X8 BHAKEI=TH 307 126 6 146 102 44 - - -
FEAEETNT B X X X X X X X X
BAEETRETH - - - - - - - - -
Atk FHET 543 466 1 63 37 26 - - -
itz FERT 245 119 - 120 5 115 - - -
FEIK FHET 687 620 5 46 46 - - - -
1B ET 1,836 1,247 22 534 138 380 16 - -
H R ERET 210 207 1 - - - - - -




SH2FERME MRS (BBEHEE)

FeR FENETHORMMEEITELIHFY, TEHFAERVIEFLULYAE —BTT -FF

EFiiE
HEAFEE
N BHEEORER
AT A wH | —FR | RBR | | TOM
BB |1 o | a~sme o~ ronse | TIRE
2L E

ZEREI—THB 119 14 - 103 28 39 36 - -
2 EBERZTH 14 2 - 12 12 - - - -
B hET 1,715 1,240 262 182 109 73 - - -
#H—TH 151 44 93 10 10 - - - 1
BHAZTH 130 91 29 9 2 7 - - -
X9 EHZTH 52 52 - - - - - - -
HHAETH X X X X X X X X X
#WHATHE 49 27 22 - - - - - -
#HARTH 14 10 - 4 4 - - - -
¥BHLTH 4 4 - - - - - - -
J\SHT 57 55 - - - - - - -
SAIKET - - - - - - - - -
Fe BF EIET 155 148 - - - - - - -
FRIRET 156 135 - 17 - 17 - - 1
¥ 2 BT 106 103 - - - - - - -
3t FE BT 41 4 - - - - - - -
LI BT 227 213 1 8 8 - - - 1
S i HT 445 310 20 67 21 46 - - -
SeEHT 32 31 - - - - - - -
zlsli) 318 302 8 1 1 - - - -
RAHT 40 40 - - - - - - -
(A ET 42 42 - - - - - - -
B2 R HT 9 9 - - - - - - -
mEEET 9 9 - - - - - - -
L EE 37 37 - - - - - - -
E = ILET 18 18 - - - - - - -
= hRHET 92 88 - - - - - - -
1 22 T 13 13 - - - - - - -
1% B HT 28 27 - - - - - - -
Z farfr 27 27 - - - - - - -
& HRHET 77 76 - - - - - - -
RAH 29 28 1 - - - - - -
i/ )11 BT 20 19 - - - - - - -
I E R AT 25 25 - - - - - - -
oz FEHT 28 28 - - - - - - -
hEHRT 8 8 - - - - - - -
AEFHT 14 14 - - - - - - -
B ET 28 27 1 - - - - - -
A AT 23 22 - - - - - - -
Itk R ET 14 14 - - - - - - -
FNEAET 26 26 - - - - - - -
ZAILIET 14 14 - - - - - - -
ELMET 21 21 - - - - - - -
H R % B EFET 19 19 - - - - - - -
JKFRAET 87 86 - - - - - - -
Al FiT BT 21 21 - - - - - - -
WA= By 72 69 - - - - - - -
4 TFET 35 35 - - - - - - -
B4 [RET 37 36 - - - - - - -
& a7 80 76 - - - - - - -
AARET 33 31 - - - - - - -
FHAEET 46 46 - - - - - - -
L2 LLIET 19 19 - - - - - - -
AHNAERT 117 114 - - - - - - -
e [ BT 94 93 - - - - - - -
KERHE 33 33 - - - - - - -
D LLHT 39 39 - - - - - - -
AFEALET 29 29 - - - - - - -
ZA)IET 95 94 - - - - - - -
%10 REFEAT 31 29 - - - - - - -
FEATHT 26 23 - - - - - - -
5= E3 BT X X X X X X X X X
FAI7KET 24 17 - - - - - - -
G EHT 34 33 - - - - - - -
i FRET 11 11 - - - - - - -
BRER)I[HT 14 14 - - - - - - -
&/ )11 H] 36 33 - - - - - - -
)1 T 18 17 - - - - - N -




SH2FERME MRS (BBEHEE)
FeR FENETHORMMEEITELIHFY, TEHFAERVIEFLULYAE —BTT -FF

ITEEH
HEES
_ ENEEDER
AT A wH | —FR | RBR | | TOM
- 20 | 3~ |6~ tonse| IR
Ak
FEIRJITHT 24 24 - - - - - - -
EINEL) 16 16 - - - - - - -
TIR)IET 83 83 - - - - - - -
[ FE BT 8 8 - - - - - - -
Ry BaT 130 124 - - - - - - -
Ry #ESs| 48 47 - - - - - - -
Ry #EIL 95 95 - - - - - - -
Ryisaa 18 18 - - - - - - -
Ry 3R 40 39 - - - - - - -
Ry BB 98 98 - - - - - - -
AR 2 FEET 66 66 - - - - - - -
ABiw EF iE) BT 18 18 - - - - - - -
B3 15 15 - - - - - - -
EBTR & EHAET 120 109 - - - - - - -
R AT 120 92 8 4 4 - - - -
EBTR/INLIF BT 54 52 - - - - - - -
#BTRHE ATET 29 29 - - - - - - -
EBTR At LI AT 136 136 - - - - - - -
M SLHIE 208 205 - - - - - - -
#IRBRET 323 274 - 20 14 6 - - 2
STET 334 240 3 52 23 29 - - 1
&147 R AT BT 98 95 - 1 1 - - - 1
INEHET 81 80 - - - - - - -
LR IIET 63 63 - - - - - - -
T ET 43 43 - - - - - - -
SRk ET 73 67 1 - - - - - -
#BTR B ZET 50 46 - 2 2 - - - -
ERE—TH 262 132 5 122 97 25 - - 1
ERE_TH 414 153 20 237 174 63 - - -

X1 EO=HETLEEDOHIE

X2 EDRZELEEOHIE

X3 MEDORHHMETEEEOHIE

X4 MEOEEEFRLRT HESEDHKIE
5 EDNEZTH.MTHLEHEOHE
X6 MEDEE—TH.ZTEOESEDHIE
X7 MEOHCHMBEATHESEDHIE
X8 MEDFEALHET BEAZEDOHIE

X MEDHEHMTHEAZEDOHIE

10 HEDOEBRITEEEDOHIE



